ON THE VALIRON DEFICIENCIES OF ORIENTED FUNCTIONS

R. BRAVO DE LA PARRA and A. FERNANDEZ ARIAS

Abstract.

An extension of a result of D. F. Shea on meromorphic functions of order λ , $0 \le \lambda \le 1$ with negative zeros and positive poles is presented for the class of oriented functions introduced by G. Valiron. Let $\Delta(0,f)$, $\Delta(\infty,f)$ denote Valiron deficiencies and set $X=1-\Delta(0,f)$, $Y=1-\Delta(\infty,f)$. D. F. Shea proved for functions of order λ less than one with negative zeros and positive poles that $X^2+Y^2-2XY\cdot\cos\pi\lambda \le \sin^2\pi\lambda$. In this paper it is proved that this relationship still holds for oriented functions with sets of zeros and poles symmetric with respect to the real axis. Furthermore if X=Y, in particular if the zeros are symmetric to the poles with respect o the imaginary axis, then $X^2 \le 2^{-1} (1+\cos\pi\lambda)$ for functions not necessarily oriented but with zeros and poles $a_v=|a_v|e^{i\theta_v}$, $b_v=|b_v|e^{i\gamma_v}$ satisfying $\pi-|\theta_v|\le \beta_1<\pi/2$ and being more densely distributed around the real axis than away from it.

1. Introduction.

In [7] D. F. Shea proved the following result

THEOREM A. Let f(z) be a meromorphic function in the plane of order λ , $0 \le \lambda \le 1$, whose zeros lie on the negative real axis and whose poles lie on the positive real axis.

If we set

$$X = 1 - \Delta(0, f), Y = 1 - \Delta(\infty, f),$$

where $\Delta(0, f)$ denote Valiron deficiencies, then it holds

$$(1.1) X^2 + Y^2 - 2XY\cos\pi\lambda \le \sin^2\pi\lambda$$

when $1/2 \le \lambda \le 1$.

If $\lambda < 1/2$, (1.1) also holds provided

$$X \ge \cos \pi \lambda$$
 and $Y \ge \cos \pi \lambda$.

He also suggests that this and other related results of [7], might be extended to functions with more general distributions of zeros and poles.

In particular he thinks that such an extension is possible for the class of

Received September 25, 1990

oriented functions introduced by Valiron [9]. Extending the terminology of Valiron to meromorphic functions, the oriented functions are defined as those meromorphic functions whose zeros $\{a_v\}$ and poles $\{b_v\}$ satisfy

$$\lim_{\nu \to \infty} |\operatorname{Arg} a_{\nu}| = \pi, \lim_{\nu \to \infty} \operatorname{Arg} b_{\nu} = 0.$$

In this paper we intend to prove such an extension for Theorem A. However we must impose a condition of symmetry of zeros and poles with respect to the real axis.

Our theorem will be in particular applicable to the functions

$$G_{\lambda}(z) = F_{\lambda}^{1}(z) F_{\lambda}^{2}(z),$$

where $F_{\lambda}^{1}(z) F_{\lambda}^{2}(z)$ are the "modified Lindelöf functions"

$$F_{\lambda}^{1}(z) = \prod_{\nu=1}^{\infty} \left(1 + \frac{z}{\nu^{\alpha} e^{i\theta_{\nu}}} \right), \quad F_{\lambda}^{2}(z) = \prod_{\nu=1}^{\infty} \left(1 + \frac{z}{\nu^{\alpha} e^{-i\theta_{\nu}}} \right)$$

$$\alpha = 1/\lambda, \quad 0 < \lambda < 1, \quad \sum_{\nu=1}^{\infty} |\theta_{\nu}| < \infty.$$

Furthermore, if there is also symmetry between zeros and poles, the conclusions of Theorem A still hold for functions not necessarily oriented but with zeros and poles whose arguments satisfy $\pi - |\theta_{\nu}| \le \beta_1$, $|\gamma_{\nu}| \le \beta_1$, $0 \le \beta_1 < \pi/2$.

2. Statements of the results.

We shall deduce the above mentioned results from the following one.

THEOREM 1. Let f(z) be a meromorphic function in the plane of order λ and lower order μ , with $0 < \mu \le \lambda < 1$, and whose zeros and poles $a_{\nu} = |a_{\nu}| e^{i\theta_{\nu}}$, $b_{\nu} = |b_{\nu}| e^{i\gamma_{\nu}}$ satisfy the following conditions

(2.1)
$$\{a_{\nu}\}_{\nu \in \mathbb{N}} = \{\bar{a}_{\nu}\}_{\nu \in \mathbb{N}}, \{b_{\nu}\}_{\nu \in \mathbb{N}} = \{\bar{b}_{\nu}\}_{\nu \in \mathbb{N}},$$

(2.2)
$$0 \le \pi - |\theta_{\nu}| \le \beta_1 < \pi/2, \ 0 \le |\gamma_{\nu}| \le \beta_1 < \pi/2,$$

and

(2.3)
$$\sum_{|a_{\nu}| \leq r} \pi - |\theta_{\nu}| = O(r^{\mu'}), \sum_{|a_{\nu}| \leq r} = O(r^{\mu'}), \, \mu' < \mu.$$

Then for all β , $\beta_1 < \beta < \pi - \beta_1$, we have the relationship

(2.4)
$$\sin \pi \lambda \ge X \sin \beta \lambda + Y \sin(\pi - \beta) \lambda.$$

As consequences of Theorem 1 we shall obtain

THEOREM 2. Let f(z) a be meromorphic function of order λ and lower order μ , with $0 < \mu \le \lambda < 1$, and whose zeros and poles $a_{\nu} = |a_{\nu}| e^{i\theta_{\nu}}$, $b_{\nu} = |b_{\nu}| e^{i\gamma_{\nu}}$ satisfy (2.1) and (2.3) of Theorem 1 and

(2.5)
$$\lim_{\nu \to \infty} |\theta_{\nu}| = \pi, \lim_{\nu \to \infty} \gamma_{\nu} = 0.$$

Then we have the relationship (1.1) of Theorem A, i.e.

$$(2.6) X^2 + Y^2 - 2XY\cos\pi\lambda \le \sin^2\pi\lambda$$

when $1/2 \le \lambda < 1$.

If $\lambda < 1/2$, (2.6) still holds provided

$$(2.7) X \ge \cos \pi \lambda \text{ and } Y \ge \cos \pi \lambda.$$

THEOREM 3. Let f(z) be a meromorphic function of order λ and lower order μ , with $0 < \mu \le \lambda < 1$, and whose zeros and poles $a_{\nu} = |a_{\nu}|e^{i\theta_{\nu}}$, $b_{\nu} = |b_{\nu}|e^{i\gamma_{\nu}}$ satisfy (2.1), (2.2) and (2.3) of Theorem 1. Then if X = Y we have

$$(2.8) X^2 \le \frac{1 + \cos \pi \lambda}{2}.$$

The condition X = Y is fulfilled in particular in the case of symmetry of zeros and poles with respect to the imaginary axis and more general if $|a_y| = |b_y|$.

3. Auxiliary results.

We present some integral representations of finite genus q. We present them in the general case though our main interest will be q = 0.

Let

$$E(u,q) = (1-u) \exp\left(u + \frac{u^2}{2} + \ldots + \frac{u^q}{q}\right), (q>0)$$

$$E(u,0)=1-u,$$

then we have the following formula due to Valiron

(3.1)
$$\log E\left(-\frac{z}{a},q\right) = (-1)^q \int_{L_a} \frac{z^{q+1}}{t^{q+1}(t+z)} dt,$$

valid in $|\arg z - \alpha| < \pi$, where $\alpha = \operatorname{Arg} a$, $a \neq 0$ and

$$L_a = \{te^{i\alpha}, |a| \le t \infty\}.$$

Formula (3.1) can easily be obtained by expressing the integrand as a power series and then by a term-by-term integration.

From (3.1), it follows when $\alpha \neq \pi$

(3.2)
$$\int_0^{\beta} \log \left| \left(-\frac{re^{i\theta}}{a}, q \right) \right| d\theta$$
$$= (-1)^{q+1} \operatorname{Re} \left\{ i \int_{\Gamma_r} z^q dz \int_{L_a} \frac{dt}{t^{q+1}(t+z)} \right\},$$

where $\Gamma_r = \{ re^{i\theta} \mid 0 \le \theta \le \beta, 0 < \beta < \pi - |\alpha| \}.$

Let now g(z) be the Weierstrass product of genus q

$$g(z) = \prod_{\nu=1}^{\infty} E\left(-\frac{z}{a_{\nu}}, q\right), \ a_{\nu} \neq 0,$$

we have the following result.

LEMMA 1. If the zeros $a_v = |a_v|e^{i\theta_v}$ satisfy

$$(3.3) |\theta_{\nu}| \leq \beta_1 < \pi/2,$$

(3.4)
$$\sum_{|a_{\nu}| \leq r} |\theta_{\nu}| = O(r^{\mu'}), \ 0 < \mu' < \mu, \ \mu' < q + 1$$

then we have

(3.5)
$$\int_{0}^{\beta} \log|g(re^{i\theta})| d\theta$$
$$= (-1)^{q+1} \operatorname{Re} \left\{ i \int_{0}^{\infty} \frac{n(t,0,g)}{t^{q+1}} dt \int_{\Gamma} \frac{z^{q} dz}{t+z} \right\} + O(r^{q+\mu'}),$$

where n(t, 0, q) is the counting function of the zeros of q and

$$\Gamma_r = \{ re^{i\theta} \mid 0 \le \theta \le \beta < \pi - \beta_1 \}.$$

PROOF OF LEMMA 1.

(3.6)
$$\int_{0}^{\beta} \log |g(re^{i\theta})| d\theta = \int_{0}^{\beta} \log \left| \prod_{\nu=1}^{\infty} E\left(-\frac{re^{i\theta}}{a_{\nu}}, q\right) \right| d\theta$$
$$= \sum_{\nu=1}^{\infty} \int_{0}^{\beta} \log \left| E\left(-\frac{re^{i\theta}}{a_{\nu}}, q\right) \right| d\theta.$$

Making use of (3.2) and choosing β as in the statement of the lemma we deduce from (3.6)

(3.7)
$$\int_0^\beta \log|g(re^{i\theta})| d\theta$$
$$= (-1)^{q+1} \operatorname{Re} \left\{ i \sum_{\nu=1}^\infty \int_{L_{a_\nu}} \frac{dt}{t^{q+1}} \int_{\Gamma_r} \frac{z^q dz}{t+z} \right\}.$$

Now we have

(3.8)
$$\left| (-1)^{q+1} \operatorname{Re} \left\{ i \sum_{\nu=1}^{\infty} \int_{L_{a_{\nu}}} \frac{dt}{t^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{t+z} \right\}$$

$$- (-1)^{q+1} \operatorname{Re} \left\{ i \int_{0}^{\infty} \frac{n(t,0,g)}{t^{q+1}} dt \int_{\Gamma_{r}} \frac{z^{q} dz}{t+z} \right\} \right|$$

$$= \left| (-1)^{q+1} \operatorname{Re} \left\{ i \sum_{\nu=1}^{\infty} \int_{L_{a_{\nu}}} \frac{dt}{t^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{t+z} \right\}$$

$$- (-1)^{q+1} \operatorname{Re} \left\{ i \int_{|a_{\nu}|}^{\infty} \frac{dt}{t^{q+1}} t \int_{\Gamma_{r}} \frac{z^{q} dz}{t+z} \right\}$$

We get the estimates

$$(3.9) \qquad \left| \int_{L_{a_{v}}} \frac{dt}{t^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{t+z} - \int_{|a_{v}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{s+z} \right|$$

$$\leq \left| \int_{|a_{v}|}^{\infty} \frac{e^{i\theta_{v}} ds}{e^{i(q+1)\theta_{v}} s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{se^{i\theta_{v}} + z} - \int_{|a_{v}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{se^{i\theta_{v}} + z} \right|$$

$$+ \left| \int_{|a_{v}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{se^{i\theta_{v}} + z} - \int_{|a_{v}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{s+z} \right|$$

$$= I_{v} + II_{v}.$$

First we estimate I_{y}

(3.10)
$$I_{\nu} = \left| (1 - e^{-iq\theta_{\nu}}) \int_{|a_{\nu}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} dz}{s e^{i\theta_{\nu}} + z} \right| \\ \leq \alpha_{\nu} \int_{|a_{\nu}|}^{\infty} \frac{\pi r^{q+1}}{\sqrt{r^{2} + s^{2} - 2rs\eta}} \frac{ds}{s^{q+1}}$$

where

$$\alpha_{v} = |1 - e^{-iq\theta_{v}}| = \sqrt{2(1 - \cos q\theta_{v})} \le C|\theta_{v}|$$

and

$$\eta = \cos(\pi - \beta_1 - \beta) < 1$$

Making use of (3.4), we obtain from (3.10)

(3.11)
$$\sum_{v=1}^{\infty} I_{v} \leq \sum_{v=1}^{\infty} \alpha_{v} \int_{|a_{v}|}^{\infty} \frac{\pi r^{q+1}}{\sqrt{r^{2} + s^{2} - 2rs\eta}} \frac{ds}{s^{q+1}}$$

$$= \sum_{v=1}^{\infty} \int_{|a_{v}|}^{|a_{v+1}|} \left(\sum_{k \leq v} \alpha_{k}\right) \frac{\pi r^{q+1}}{\sqrt{r^{2} + s^{2} - 2rs\eta}} \frac{ds}{s^{q+1}}$$

$$\leq C \int_{\delta = \min_{v \in \mathbb{N}} |a_{v}|}^{\infty} \frac{\pi r^{q+1}}{\sqrt{r^{2} + s^{2} - 2rs\eta}} \frac{s^{\mu'} ds}{s^{q+1}}$$

$$= Cr^{\mu'} \int_{\delta/r}^{\infty} \frac{\pi}{t^{q-\mu'+1}} \frac{dt}{\sqrt{1 + t^{2} - 2t\eta}},$$

after making the change of variable t = s/r.

From (3.11) and L'Hôpital we have for q > 0

(3.12)
$$\lim_{r \to \infty} \frac{\int_{\delta/r}^{\infty} \frac{\pi}{t^{q-\mu'+1}} \frac{dt}{\sqrt{1+t^2-2t\eta}}}{r^q}$$

$$= \lim_{r \to \infty} \frac{\left[-\frac{\pi}{(\delta/r)^{q-\mu'+1}} \frac{1}{\sqrt{1+(\delta/r)^2-2(\delta/r)\eta}} \right] \left(-\frac{\delta}{r^2} \right)}{qr^{q-1}}$$

$$= \lim_{r \to \infty} \frac{\pi r^{q-\mu'+1}}{\delta^{q-\mu'}q^{r^q}\sqrt{r^2+\delta^2-2\delta r\eta}} < \infty.$$

In the case q = 0,

$$\int_0^\infty \frac{\pi}{t^{q-\mu'+1}} \frac{dt}{\sqrt{1+t^2-2t\eta}} < \infty.$$

Thus from (3.11) and (3.12) we obtain

(3.13)
$$\sum_{\nu=1}^{\infty} I_{\nu} = O(r^{\mu'+q}).$$

As for II, we have

(3.14)
$$II_{\nu} = \left| (1 - e^{i\theta_{\nu}}) \int_{|a_{\nu}|}^{\infty} \frac{ds}{s^{q+1}} \int_{\Gamma_{r}} \frac{z^{q} s ds}{(se^{i\theta_{\nu}} + z)(s+z)} \right| \\ \leq \lambda_{\nu} \int_{|a_{\nu}|}^{\infty} \frac{\pi r^{q+1} s}{r^{2} + s^{2} - 2rs\eta} \frac{ds}{s^{q+1}},$$

where $\lambda_{\nu} = |1 - e^{i\theta_{\nu}}| = \sqrt{2(1 - \cos \theta_{\nu})} \le C|\theta_{\nu}|$ and $\eta < 1$ is the same as above. Using (3.4) again we get from (3.14)

(3.15)
$$\sum_{\nu=1}^{\infty} II_{\nu} \leq \sum_{\nu=1}^{\infty} \int_{|a_{\nu}|}^{|a_{\nu+1}|} \left(\sum_{k \leq \nu} \lambda_{\nu}\right) \frac{\pi r^{q+1} s}{r^{2} + s^{2} - 2rs\eta} \frac{ds}{s^{q+1}}$$
$$\leq C \int_{\delta}^{\infty} \frac{\pi r^{q+1} s}{r^{2} + s^{2} - 2rs\eta} \frac{s^{\mu'} ds}{s^{q+1}}$$
$$= Cr^{\mu'} \int_{\delta/r}^{\infty} \frac{\pi}{t^{q-\mu'+1}} \frac{t dt}{1 + t^{2} - 2t\eta}.$$

Applying L'Hôpital rule again we obtain for q > 0

(3.16)
$$\lim_{r \to \infty} \frac{\int_{\delta/r}^{\infty} \frac{\pi}{t^{q-\mu'+1}} \frac{tdt}{1+t^2-2t\eta}}{r^q}$$

$$= \lim_{r \to \infty} \frac{\left[-\frac{\pi}{(\delta/r)^{q-\mu'+1}} \frac{\delta/r}{1+(\delta/r)^2-2(\delta/r)\eta} \right] \left(-\frac{\delta}{r^2} \right)}{qr^{q-1}}$$

$$= \lim_{r \to \infty} \frac{\pi \delta^{1-q+\mu'} r^{q-\mu'+1}}{qr^q(r^2+\delta^2-2\delta r\eta)} = 0.$$

Again in the case q = 0.

$$\int_0^\infty \frac{\pi}{t^{q-\mu'+1}} \cdot \frac{tdt}{1+t^2-2t\eta} < \infty.$$

Thus from (3.15) and (3.16) we conclude

(3.17)
$$\sum_{\nu=1}^{\infty} II_{\nu} = O(r^{q+\mu'}).$$

Finally from (3.7), (3.8), (3.9), (3.13) and (3.17) we get (3.5) of Lemma 1.

We now refer to [7] to see how the term

$$\frac{(-1)^{q+1}}{\pi}\operatorname{Re}\left\{i\int_0^\infty \frac{n(t,0,g)}{t^{q+1}}dt\int_{\Gamma_r} \frac{z^qdz}{t+z}\right\}$$

can be transformed by integration by parts into

$$\int_0^\infty N(t,0,g)K_q(t,r,\beta)dt$$

where the kernel $K_q(t, r, \beta)$ is defined by

$$K_q(t,r,\beta) = \frac{(-1)^q}{\pi} \left(\frac{r}{t}\right)^{q+1} \frac{r \sin q\beta + t \sin(q+1)\beta}{t^2 + 2tr\cos\beta + r^2}, \quad q \ge 0, -\pi < \beta < \pi.$$

The kernel $K_0(t, r, \beta)$ reduces to the Poisson kernel for the upper half plane, however we shall keep the above notation.

The properties of K_a which we shall make use of in what follows are

(3.18)
$$K_q(t, r, \theta) \ge 0, \quad 0 \le \theta \le \frac{\pi}{q+1}$$

(3.19)
$$\int_0^\infty s^\lambda K_q(s,1,\beta)ds = \frac{\sin\beta\lambda}{\sin\pi\lambda}, \ (q < \lambda < q+1, \ -\pi < \beta < \pi)$$

To end up with this section, we rewrite the conclusion (3.5) of Lemma 1 in terms of the kernel K_a

(3.20)
$$\int_0^{\beta} \log|g(re^{i\theta})| d\theta = \int_0^{\infty} N(t, 0, g) K_q(t, r, \beta) dt + O(r^{q+\mu'}).$$

4. Proof of Theorem 1.

The steps of the proof of Theorem 1 are now quite the same to those of the proof of Theorem A in [7].

Let f be a meromorphic function as in the statement of Theorem 1. Then f can be expressed in the form

$$f(z) = cz^{m} \frac{\prod_{v=1}^{\infty} \left(1 - \frac{z}{a_{v}}\right)}{\prod_{v=1}^{\infty} \left(1 - \frac{z}{b_{v}}\right)}.$$

We consider the function $g(z) = c^{-1}z^{-m}f(z)$ and apply Lemma 1. We have

$$(4.1) \qquad \frac{1}{\pi} \int_0^{\beta} \log|g(re^{i\theta})| d\theta$$

$$= \frac{1}{\pi} \int_0^{\beta} \log\left|\prod_{v=1}^{\infty} \left(1 - \frac{re^{i\theta}}{a_v}\right)\right| d\theta - \frac{1}{\pi} \int_0^{\beta} \log\left|\prod_{v=1}^{\infty} \left(1 - \frac{re^{i\theta}}{b_v}\right)\right| d\theta.$$

By (3.20) we have

(4.2)
$$\frac{1}{\pi} \int_0^{\beta} \log \left| \prod_{\nu=1}^{\infty} \left(1 - \frac{r e^{i\theta}}{a_{\nu}} \right) \right| d\theta = \int_0^{\infty} N(t, 0, g) K_o(t, r, \beta) dt + O(r^{\mu'})$$

for any β , $0 \le \beta < \pi - \beta_1$.

We also have by (3.20) and Jensen's formula

$$(4.3) \qquad \frac{1}{\pi} \int_{0}^{\beta} \log \left| \prod_{\nu=1}^{\infty} \left(1 - \frac{re^{i\theta}}{b_{\nu}} \right) \right| d\theta$$

$$= \frac{1}{\pi} \int_{0}^{\beta} \log \left| \prod_{\nu=1}^{\infty} \left(1 + \frac{re^{i(\pi-\theta)}}{\overline{b_{\nu}}} \right) \right| d\theta$$

$$= \frac{1}{\pi} \int_{\pi-\beta}^{\pi} \log \left| \prod_{\nu=1}^{\infty} \left(1 + \frac{re^{i\theta}}{\overline{b_{\nu}}} \right) \right| d\theta$$

$$= N(r, \infty, g) - \int_{0}^{\pi-\beta} \log \left| \prod_{\nu=1}^{\infty} \left(1 + \frac{re^{i\theta}}{\overline{b_{\nu}}} \right) \right| d\theta$$

$$= N(r, \infty, g) - \int_{0}^{\infty} N(t, \infty, g) K_{o}(t, r, \pi-\beta) dt + O(r^{\mu'}),$$

for those β such that $0 \le \pi - \beta < \pi - \beta_1$ or equivalently $0 < \beta_1 < \beta_2$. We note that we have made use of the fact

$$\left| \prod_{\nu=1}^{\infty} \left(1 + \frac{re^{i\theta}}{\overline{b}_{\nu}} \right) \right| = \left| \prod_{\nu=1}^{\infty} \left(1 + \frac{re^{-i\theta}}{\overline{b}_{\nu}} \right) \right|$$

which holds by (2.1).

From (4.1, (4.2) and (4.3) we conclude

$$(4.4) \qquad \frac{1}{\pi} \int_0^\beta \log|g(re^{i\theta})| d\theta + N(r, \infty, g)$$

$$= \int_0^\infty N(t, 0, g) K_o(t, r, \beta) dt + \int_0^\infty N(t, \infty, g) K_o(t, r, \pi - \beta) dt + O(r^{\mu'}),$$

for those β such that $\beta_1 < \beta < \pi - \beta_1$.

Making use of the fact that $|g(re^{i\theta})|$ is an even function of θ , i.e. $|g(re^{i\theta})| = |g(re^{-i\theta})|$ what is a consequence again of (2.1), we get from (4.4)

$$(4.5) m(r,f) \ge m(r,g) + C \log r \ge \frac{1}{\pi} \int_0^\beta \log|g(re^{i\theta})| d\theta + C \log r$$

and since

$$N(t,0,f) = N(t,0,g) + C\log t, N(t,\infty,f) = N(t,\infty,g) + C\log t$$
 we conclude from (4.5)

$$(4.6) T(r,f) = m(r,f) + N(r,\infty,f)$$

$$\geq \frac{1}{\pi} \int_0^\beta \log|g(re^{i\theta})| d\theta + N(r,\infty,g) + O(\log r)$$

$$\geq \int_0^\infty N(t,0,f) K_o(t,r,\beta) dt + \int_0^\infty N(t,\infty,f) K_o(t,r,\pi-\beta) dt + O(r^{\mu'}).$$

If $X = 1 - \Delta(0, f)$, choose \bar{X} so that $0 < \bar{X} < X$ and if X = 0, take $\bar{X} = 0$. Hence, we always have

$$(4.7) N(t,0,f) \ge \bar{X}T(t,f)$$

for all sufficiently large t. We take \bar{Y} in a similar way, i.e.

$$1 - \Delta(\infty, f) = Y > \bar{Y} > 0$$

if Y > 0, and $\overline{Y} = 0$ if Y = 0, so that we also have

$$(4.8) N(t, \infty, f) \ge \bar{Y}T(t, f).$$

Let $\{r_m\}$ be a sequence of Pŏlya peaks of the second kind of order λ for the function T(t, f), see [7]). Then we obtain from (4.6), (4.7) and (4.8), bearing in mind that $K_o(t, r, \beta)$ is positive

$$T(r_m) \ge \bar{X}T(r_m)(1+o(1)) \int_{s_m}^{s_m} (t/r_m^{\lambda}) K_o(t,r_m,\beta) dt$$

$$+ \bar{Y}T(r_m)(1+o(1)) \int_{s_m}^{s_m} (t/r_m^{\lambda}) K_o(t,r_m,\pi-\beta) dt + O(r_m^{\mu'})$$

as $m \to \infty$.

Making the change of variable $s = t/r_m$, dividing by $T(r_m)$ and evaluating the resulting integral according to (3.19) we get to

$$\sin \pi \lambda \ge \bar{X} \sin \beta \lambda + \bar{Y} \sin (\pi - \beta) \lambda,$$

and finally letting $\bar{X} \to X$, $\bar{Y} \to Y$ we obtain

$$\sin \pi \lambda \ge X \sin \beta \lambda + Y \sin (\pi - \beta) \lambda,$$

i.e. we conclude (2.4) of Theorem 1.

5. Proofs of Theorems 2 and 3.

PROOF OF THEOREM 2. We derive Theorem 2 from Theorem 1. We decompose f as

$$(5.1) f(z) = fN(z)fN(z)$$

where

$$f^{N}(z) = cz^{m} \prod_{v=1}^{N} \frac{\left(1 - \frac{z}{a_{v}}\right)}{\left(1 - \frac{z}{b_{v}}\right)}$$

and

$$f_N(z) = \prod_{v > N} \frac{\left(1 - \frac{z}{a_v}\right)}{\left(1 - \frac{z}{b_v}\right)}$$

Since f^N is rational, we deduce from (5.1)

$$T(r, f) = T(r, f_N) + O(\log r),$$

$$N(r, \infty, f) = N(r, \infty, f_N) + O(\log r),$$

$$N(r, 0, f) = N(r, 0, f_N) + O(\log r),$$

whence, writing $X_N = 1 - \Delta(0, f_N)$, $Y_N = 1 - \Delta(\infty, f_N)$, we have

$$(5.2) X_N = X, Y_N = Y.$$

Making use of the hypothese (2.5), we deduce that given any β_1 , $0 < \beta_1 < \pi/2$, we can find N so large that

$$|\gamma_{\nu}| < \beta_1, |\pi - \theta_{\nu}| < \beta_1, \ \nu > N$$

so that we can apply Theorem 1 to f_N and conclude the relationship (2.4) for any β , $0 < \beta < \pi$, and by continuity also for $\beta = 0$, π . Taking now

$$\beta = \frac{1}{\lambda} \arctan\left(\frac{X - Y \cos \pi \lambda}{Y \sin \pi \lambda}\right)$$

one gets (2.6) from (2.4) after some simple calculations.

PROOF OF THEOREM 3. Theorem 3 is an immediate consequence of Theorem 1 since the inequality (2.8) is (2.4) for the particular case X = Y, $\beta = \pi/2$.

6. Example.

We show that the functions

$$G_{\lambda}(z) = F_{\lambda}^{1}(z)F_{\lambda}^{2}(z)$$

where $F_{\lambda}^{1}(z)$, $F_{\lambda}^{2}(z)$ are the modified Lindelöf functions

$$F_{\lambda}^{1}(z) = \prod_{\nu=1}^{\infty} \left(1 + \frac{z}{\nu^{\alpha} e^{i\theta_{\nu}}} \right), F_{\lambda}^{2}(z) = \prod_{\nu=1}^{\infty} \left(1 + \frac{z}{\nu^{\alpha} e^{-i\theta_{\nu}}} \right)$$
$$\alpha = 1/\lambda, 0 < \lambda < 1, \sum_{\nu=1}^{\infty} |\theta_{\nu}| < \infty.$$

satisfy the hypotheses of Theorem 2.

We just check that $G_{\gamma}(z)$ is an integral function of regular growth of order λ . We compare the asymptotic behaviour of a modified Lindelöf function, say $F_{\lambda}^{1}(z)$, with that of the corresponding Lindelöf function

$$F_{\lambda}(z) = \prod_{\nu=1}^{\infty} \left(1 + \frac{z}{\nu^{\alpha}}\right), \ \alpha = 1/\lambda, \ 0 < \lambda < 1.$$

First we estimate $|F_{\lambda}^{1}(z)/F_{\lambda}(z)|$ in $|\text{Arg }z| < \pi/2 - \delta$, $\delta > 0$.

$$\left| \frac{F_{\lambda}^{1}(z)}{F_{\lambda}(z)} \right| = \prod_{\nu=1}^{\infty} \left| \frac{1 + \frac{z}{\nu^{\alpha} e^{i\theta_{\nu}}}}{1 + \frac{z}{\nu^{\alpha}}} \right| \\
\leq \prod_{\nu=1}^{\infty} \left[1 + \frac{|z||1 - e^{i\theta_{\nu}}|}{|\nu^{\alpha} + z|} \right] \\
\leq \exp \left\{ \sum_{\nu=1}^{\infty} \frac{|z||1 - e^{i\theta_{\nu}}|}{|\nu^{\alpha} + z|} \right\}.$$

The terms $|z| |v^{\alpha} + z|^{-1}$ are bounded by one in $|\operatorname{Arg} z| \le \pi/2 - \delta$. Since $|1 - e^{i\theta_{\gamma}}| \le C |\theta_{\gamma}|$, we conclude from (6.1)

$$\left|\frac{F_{\lambda}^{1}(z)}{F_{\lambda}(z)}\right| \leq C < \infty$$

in $|\operatorname{Arg} z| \leq \pi/2 - \delta$. Similarly we have

(6.3)
$$\left| \frac{F_{\lambda}(z)}{F_{\lambda}^{1}(z)} \right| = \left| \frac{F_{\lambda}^{N}(z)}{F_{\lambda}^{1N}(z)} \right| \prod_{\nu > N} \left| \frac{1 + \frac{z}{\nu^{\alpha}}}{1 + \frac{z}{\nu^{\alpha} e^{i\theta_{\nu}}}} \right|$$

where

(6.4)
$$\prod_{v>N} \left| \frac{1 + \frac{Z}{v^{\alpha}}}{1 + \frac{z}{v^{\alpha}e^{i\theta_{v}}}} \right| \leq \prod_{v>N} \left[1 + \frac{|z| |e^{i\theta_{v}} - 1|}{|v^{\alpha}e^{i\theta_{v}} + z|} \right]$$

$$\leq \exp\left\{ \sum_{v>N} \frac{|z| |e^{i\theta_{v}} - 1|}{|v^{\alpha}e^{i\theta_{v}} + z|} \right\}.$$

We now take N so large that we have $|\theta_{\nu}| \leq \delta$ for $\nu > N$. Thus we obtain again $|z| |\nu^{\alpha} e^{i\theta_{\nu}} + z|^{-1} \leq 1$ for z in $|\text{Arg } z| \leq \pi - \delta$ and $\nu > N$.

Thus we deduce from (6.3) and (6.4)

(6.5)
$$\left| \frac{F_{\lambda}(z)}{F_{\lambda}^{1}(z)} \right| \leq C \left| \frac{F_{\lambda}^{N}(z)}{F_{\lambda}^{1N}(z)} \right|$$

We have (see R. Nevanlinna [5], page 18)

(6.6)
$$\log |F_{\lambda}(z)| = (1 + \varepsilon(z)) \frac{\pi}{\sin \pi \lambda} |z|^{\lambda} \cos(\lambda \operatorname{Arg} z),$$

where $\varepsilon(z) \to 0$ uniformly in $|\operatorname{Arg} z| \le \pi - \delta$ as $|z| \to \infty$.

Bearing in mind

$$|\log |F_{\lambda}^{N}(re^{i\theta})|| = O(\log r), |\log |F_{\lambda}^{1N}(re^{i\theta})|| = O(\log r),$$

we conclude from (6.2), (6.5) and (6.6)

$$C_1 r^{\lambda} \leq \log^+ |F_1^1(re^{i\theta})| = \log |F_1^1(re^{i\theta})| \leq C_2 r^{\lambda}, C_1, C_2 > 0,$$

in $|\operatorname{Arg} z| \leq \pi/2 - \delta$.

Thus for $G_{\lambda}(z) = F_{\lambda}^{1}(z)F_{\lambda}^{2}(z)$ we have a relationship of the same kind, i.e.

(6.7)
$$C_1 r^{\lambda} \leq \log^+ |G_{\lambda}(re^{i\theta})| \leq C_2 r^{\lambda}, C_1, C_2 > 0.$$

It can easily be checked that

$$\log^+ |G_{\lambda}(re^{i\theta})| = O(r^{\lambda}) \text{ in } \pi \ge |\text{Arg } z| \ge \pi/2 - \delta,$$

and thus

$$(6.8) T(r, G_{\lambda}) = m(r, G_{\lambda}) = \frac{1}{2\pi} \int_{-\pi}^{\pi} \log^{+} |G_{\lambda}(re^{i\theta})| d\theta$$

$$= \frac{1}{2\pi} \int_{|\theta| \le \pi/2 - \delta} \log^{+} |G_{\lambda}(re^{i\theta})| d\theta + \frac{1}{2\pi} \int_{\pi/2 - \delta \le |\theta| \le \pi} \log^{+} |G_{\lambda}(re^{i\theta})| d\theta$$

$$= O(r^{\lambda}) + \frac{1}{2\pi} \int_{|\theta| \le \pi/2 - \delta} \log^{+} |G_{\lambda}(re^{i\theta})| d\theta.$$

Finally from (6.7) and (6.8) we conclude that $G_{\lambda}(z)$ is of order λ and regular growth.

REFERENCES

- A. Edrei, The deficiencies of meromorphic functions of finite lower order, Duke Math. J. 31 (1964), 1-21.
- A. Edrei and W. H. J. Fuchs, The deficiencies of meromorphic functions of order less than one, Duke Math. J. 27 (1960), 233-249.
- 3. W. K. Hayman, Meromorphic Functions, Oxford University Press, New York, 1964.
- E. Lindelöf, Memoire sur la théorie de fonctions entières de genre fini, Acta. Soc. Sc. Fennicae 31 (1902).
- R. Nevanlinna, Le Théorème de Picard-Borel et la Théorie des Fonctions Méromorphes, Gauthier-Villars, Paris, 1930.
- 6. R. Nevanlinna, Analytic Functions, Springer Verlag, 1970.
- D. F. Shea, On the Valiron deficiencies of meromorphic functions of finite order, Trans. Amer. Math. Soc. 124 (1966), 201-227.
- 8. E. C. Titchmarsh, The Theory of Functions, Oxford University Press, 1979.
- G. Valiron, Sur les fonctions entières d'ordre fini et d'ordre nul, et en particulier les fonctions à correspondance régulière, Ann. Fac. Sci. Toulouse Math. (3) 5 (1913), 117-257.
- G. Valiron, Lectures on the General Theory of Integral Functions, Chelsea Publishing Company, 1949.

UNIVERSIDAD DE ALCALA DE HENARES FACULTAD DE CIENCIAS DPTO DE MATEMATICAS APARTADO 20 ALCALA DE HENARES MADRID SPAIN UNIVERSIDAD A DISTANCIA FACULTAD DE CIENCIAS DPTO MATEMATICAS FUNDAMENTALES MADRID 28040 SPAIN